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SECTION A - COGNITIVE PSYCHOLOGY
Answer all questions.

You are advised to spend about 30 minutes on each Section.

1 Total for this question: 30 marks

Look carefully at the visual illusion shown in Figure 1 below. Some people say the black spot is at
the back of the cube whilst others say it is at the front.

Figure 1

(a) Use your knowledge of psychology to name and explain the type of visual illusion shown in
Figure 1.

(b) (1) Identify one factor that affects perception.

G/J140907/S05/3181H
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(ii)) Describe one study in which the factor you have identified in (b) (i) was investigated.
Include in your answer the method used, the results obtained and the conclusion drawn.

(4 marks)
(iii) Discuss how the factor you have identified in (b) (i) might relate to everyday life.

(3 marks)

QUESTION 1 CONTINUES ON THE NEXT PAGE

Turn over P
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Read the article below and answer the question that follows.

IF PUNISHMENT WORKED
CHILDREN WOULD NEVER BE NAUGHTY
(But it doesn’t work!!)

A huge debate is taking place in Psychology right now. On one side are
those who believe that the principles of conditioning can be used
to change the behaviour of naughty children. On the other side are
those who disagree. In a recent interview, one psychologist said,
“The principles of social learning provide a much better answer to
explain the development of behaviour.”

(¢) Using an example, outline how the principles of social learning can be used to explain the

dev

elopment of behaviour.
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For her GCSE coursework, a psychology student decided to conduct a memory experiment.

The aim was to find out if words that are easy to visualise would be remembered better than words
that are difficult to visualise. She did this in the following way.

She created one list of 30 words.
Fifteen of the words in the list were easy to visualise
(e.g. house, car, tree, etc). These were the Condition A words.

° The other fifteen words in the list were difficult to visualise
(e.g. hope, fear, sense, etc). These were the Condition B words.
° All 30 words were listed in random order.

Ten members of her class volunteered to be participants in her experiment.
The participants were given two minutes to learn the list of 30 words and one minute to write
down all the words that they could remember from the list in any order.

The psychology student counted the number of words correctly recalled from each of the two groups
of words. These are presented in Table 1.

Table 1: Number of words correctly recalled out of 15 for Condition A and Condition B

P Condition A Condition B
(easy to visualise) (difficult to visualise)
1 10 8
2 12 9
3 14 10
4 9 1
5 11 6
6 12 7
7 11 7
8 12 9
9 9 6
10 10 7
Total 110 70

(d) Write a suitable hypothesis for this experiment.

(2 marks)

QUESTION 1 CONTINUES ON THE NEXT PAGE

Turn over P
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(e) (1) Identify the experimental design used in this study.

(2 marks)
() (1) For each condition, calculate the mean score and complete Table 2 below.
Table 2: Mean scores for Condition A and Condition B
Condition A Condition B
Mean
(2 marks)

(i) Use the graph paper below to display the means you have calculated for Table 2.
Provide a suitable title for this graph and fully label your display.

(5 marks)

G/J140907/S05/3181H
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(g) Use your knowledge of psychology to discuss whether the results of this experiment can be
explained by the process of encoding.

TURN OVER FOR THE NEXT SECTION

Turn over P
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SECTION B - SOCIAL PSYCHOLOGY
Answer all questions.

You are advised to spend about 30 minutes on each Section.

2 Total for this question: 30 marks
The following conversation took place between two students at the end of a school day.

Melissa:  “You were right about Mr Solomon. He’s not the best teacher we have, but there is
something about him that I like.”

Ali: “Yeah, [ know what you mean. He is my favourite teacher. Our other teachers are always

polite to us, but he’s got a certain warmth about him.”

(a) Distinguish between central traits and peripheral traits. Refer to the above conversation in
your answer.

(4 marks)

G/J140907/S05/3181H
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(b) Describe and evaluate one study in which impression formation was investigated. Include in
your answer the reason why the study was conducted, the method used, the results obtained,
the conclusion drawn and an evaluation of the study described.

(2 marks)

QUESTION 2 CONTINUES ON THE NEXT PAGE

Turn over P
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(d) Identify and explain two factors that affect conformity. Refer to psychological research in your
answer.

J 08 Yo (1) o RO PRRRRPPPPPRPRRRt

(8 marks)
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A study was conducted in which each participant had to shout and clap and make as much noise as
they could. There were two conditions:

Condition A: each participant was alone;
Condition B: participants worked in groups of six.

The participants wore earplugs. The researchers devised a ten-point noise rating scale to measure
the amount of noise that each participant made (the higher the rating, the noisier the participant).

The results are shown in Table 3.

Table 3: Mean noise rating out of 10 for each Condition

Mean noise rating

Condition A 9.0

Condition B 3.0

(e) In this study, identify:
(1) the independent variable;

(1 mark)
(ii) the dependent variable.
(1 mark)
(f) Why was it necessary for the participants to wear earplugs?
(1 mark)
(g) Describe the results of the study.
(2 marks)

QUESTION 2 CONTINUES ON THE NEXT PAGE

Turn over P
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(h) Use your knowledge of psychology to explain the results shown in Table 3.

(3 marks)

G/J140907/S05/3181H



LEAVE
1 3 MARGIN
BLANK

SECTION C - DEVELOPMENTAL PSYCHOLOGY
Answer all questions.

You are advised to spend about 30 minutes on each Section.

3 Total for this question: 30 marks

(a) Explain the difference between the terms privation and deprivation.

(3 marks)
(b) Describe one study by Rutter in which separation was investigated. Include in your answer

the reason why the study was conducted, the method used, the results obtained and the
conclusion drawn.

(5 marks)

QUESTION 3 CONTINUES ON THE NEXT PAGE

Turn over P
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Look at the following two pictures which are similar to an experiment that was conducted by Piaget,
and answer the questions that follow.

Picture not reproduced here Picture not reproduced here
due to third-party copyright due to third-party copyright
restrictions. restrictions.

Joshua is two months old. He is | When the toy is hidden by a screen,
interested in the toy placed on the | Joshua acts as if the toy no longer
table in front of him. exists.

(c) (1) According to Piaget, what characteristic of cognitive development is Joshua failing to
show?

(d) Describe one study designed by Piaget to demonstrate the formal operations stage of
development. Include in your answer the reason why the study was conducted, the method
used, the results obtained and the conclusion drawn.

(5 marks)

G/J140907/S05/3181H
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(e) Explain how Piagetian theory has been criticised by other psychologists, such as Hughes or
McGarrigle. Use research evidence in your answer.

(3 marks)

QUESTION 3 CONTINUES ON THE NEXT PAGE

Turn over P
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(g) Outline one criticism of the work of Freud.

(2 marks)

(h) Explain the role of hormones in the development of biological differences between males and
females.

(4 marks)

G/J140907/S05/3181H
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SECTION D - PRO- AND ANTI-SOCIAL BEHAVIOUR
Answer all questions.

You are advised to spend about 30 minutes on each Section.

4 Total for this question: 30 marks

Read the article below and answer the questions that follow.

Local shop makes a stand against young shoplifters

NO MORE THAN FOUR
SCHOOL CHILDREN IN
THE SHOP AT ANY TIME

This sign appeared in the window of a local sweet shop yesterday. The owner
said, “We are fed up with large numbers of young children coming in after school
and stealing sweets. They just don’t seem to understand what moral behaviour
is any more.”

(a) What is meant by the term moral behaviour? Refer to the article in your answer.

(3 marks)

QUESTION 4 CONTINUES ON THE NEXT PAGE

Turn over P
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(b) Discuss Kohlberg’s contribution to our understanding of moral development. Refer to
psychological research in your answer.

(8 marks)

G/J140907/S05/3181H
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(c) Describe one study in which the behaviour of bystanders was investigated. Include in your
answer the reason why the study was conducted, the method used, the results obtained and the
conclusion drawn.

(d) (1) Identify one ethical issue that should have been considered when the study you described
in (c) was designed.

(2 marks)

QUESTION 4 CONTINUES ON THE NEXT PAGE

Turn over P
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A psychologist wanted to investigate possible differences in the child-rearing styles of younger and
older parents. His chosen method of investigation was a survey.

(e) What is a survey?

(2 marks)
(f) State one advantage and one disadvantage of conducting surveys in psychology.
AVANTAZE ... ettt e et e e ettt e e et e e e tteeesenbeeeeebaeeeentaeeeanraeeeann
DISAAVANTAGE .......ooeiiiiiiiiie ettt et e et e et e et e et e e et eeenbeeenteeennaeenaeeenneeenbeen
(2 marks)
(g) Explain what is meant by:
(1) the authoritarian child-rearing style;
(3 marks)
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(ii))  the democratic child-rearing style.

(3 marks)

(h) What likely effect would a democratic child-rearing style have on children’s aggression
compared with an authoritarian child-rearing style?

END OF QUESTIONS
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This page may be used to complete answers to earlier questions. The number of the question must be
clearly indicated.
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This page may be used to complete answers to earlier questions. The number of the question must be
clearly indicated.
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